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Translate the following infix expression into

postfix.

i

B

A-24+D

( c )
A+B

The expression converts as follows:
(A-BC))+D)'?AB+/
(ABC/-D+)"?AB+/
ABC/-D+12/TAB+/

It is wrong to simplify the 1/2 to .5 or to

sqrt”.
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Given A=4, B=14 and (=2, evaluate the

following prefix expression:

*/-+ABC*ACB

Convert to infix:
—->*/-+ABC*ACB
—>*/-(A+B QA*Q 8
=" [(A+B - Q(A*Q B
->*((A+8 -0/ (A*0) B
->(((A+B -0/ AO) " 8
N (A+B—C)*B

A*C

Substitute and simplify:

(4+1472)*14:28
4%2
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Evaluate the following prefix expression,
when A=10, B=2, (=12 and D=2.

+/1-AB21/-CD/AB3/+ACB

+/1-AB21/-CD/AB3/+ACB

and make passes, each time putting as many

binary operators as possible into place:
+/NA-B2 71 (C-D(A/B 3 /(A+C) B
+ [(A-82 N(C-D)/(A/B) 3((A+O/B)
+(4-B/(C-D/(A/B))(A+C)/B)
2
(4-B) N A+C

c-py B
A/B

This evaluates to 19.





